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Que.1

(a)Define determinant of second order and write any.five rules of it, (6)
(b ) Solve following equations by Cremer's rule {4)
3xtSy =19 ; 2x - 2y =2
(c) If A={ §,6,7,8) B= {7,8,9,10), C=(1 0,11,18) than find {5)
(A -B) U (B-C)
O.R
(a) Explain with one illustration: d (6)
Equal set, Universal sef, Null set
(b) fA={1,2},B={2,3}, C={ 3,5} than prove that (4)
Ax(BUC)=(AXB)U(AXC)
{c )} Find value of K if {5)
11 40 28
3 12 8 =0
K 2 21
Que.2
(a) Explain with one illustration: Square Matrix, Transpose of a matrix, (6)

and Symmetric matrix.
13 123 -4
(b) i A=[ 0 2 }and B=[2 o 2 1] given than find A+B and AB if possible. (4)
-1 4 —
(c) Solve the following equations using inverse matrix, {5)

2x -3y +5 =0 ; 3x +y-9 =0

O.R
Que.2
1 2 2
(a) If A=[ 2 1 2 ] than show that {7)
2 2 1

A? --4A-51=0 where O is Null matrix and | is a identity matrix of
order 3x3,

(b) lfA=B g] ,B=[§ g] and c=[(1) ';)1] than show that (8)
A(B+C) = AB + AC - '

@ (Pred




Que.3
{a) Explain: Simple interest, Compound interest and Sinking fund .

(b) The population of a city is 49949 at pi-esent. Before seven years the

population of the city was 35498.Find the rate of growth of the population
of the city. (log. 49949=4.6985 , log 35498 = 4.5502 , Antilog 0.0212=1.0500)

OIR

(a) A certair principal doubled in 6 years. What is the rate of compound
interest? ( log 2= 0.3010, Antilog 0.0502= 1.123 )

(b) A company purchases a machine 1-1-2010 for Rs. 6,00,000. The
expected life of machine is 8 years. When za new machine will have to
purchased, it would cost 50% more . In order to purchase a new machine,
'.r.}'h at-mount should be.invested on 31* December every year for 8. years at
15% of interest?

Que.4

{a) What is mean by Interpolation and extrapolation? Mention its
main uses,

{b) From the following data by using Newton’s Method interpolate
y for x=17.

X 10 20 30 40
y 13 37 74 100
O.R

(a) Estimate the production of year 1950 by using Binomial
expansion Method for the following data;:

Year 1935 | 1940 | 1945 | 1950 | 1955 | 1960
Production | 20 29 37 ? 57 68
In tones

(b) Using Lagrange’s formula estimate value of 35 for the
following data:

X

20

30

40

50

y

572

439

346

243

o)
(8)

(7)

(8)

7)

(8)
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Que.1 .
(a) Btz Ranasdl cavan wuf] Aot Aguy iy Raed el (6)
(b ) ol wlls200A Bt I20 Ran &l A, (4)
3x+5y = 19 ; 2x - 2y =2
(c) ¥l A=({5,6,7,8} , B= {7,8,9,10}, C={10,11,18} & A (5)
(A -B) U (B-C) 2041, -
ULl
(a) s GELSRQL AUl YU AL (6)
e gL, WedRs oL, wiell ol
(b) ! A={1,2},B=(2,3},C={3,5)} &a Al W 533 (4)
Ax(BUC)=(AXB)U(AXC)
11 40 28
(€) M]3 12 8| =0 Aad kol Bud Q4. (5)
K 2 21 ‘
Que.2 . .
(a) s GELEWL Al AHcll : A AQs , wdlad AR5 A AR AR5 (6)
13
- =f1 -
(b) A A-[_(; i ud B=|) g 3 ; ‘;] wet da A A+B 2 AB slel (4)

gla A k)

(c) < ARls ol Hee ol QA dlls200A G¥et Nl .

2x -3y +5 =0 ; 3x +y -9 =0

O
Que.2
1 2 2 :
(a) A A=[2 1 2] 8l dl eadd) ¥
2 2 1

(5)

(7)

A2 -4A-51=0 > O o AQs B A 1 A 3x3 oA Asu AQs .

©)

(PTOD




.1 0 2 1 1 -1

(b) A A-[Z al B-[o 0] w3 -::-[0 0] Aat A eadd ¥
A(B+C) = AB + AC

Que.3
(a) Wl A ey, AsgK cally wa Roslol  §s
(b) As 232 ol alct ol circll 49949 B. 2t al woUB A AR ofl ctecll
. 35498 &cll. vl 2432 ofl crcllatzisll €2 AL
(log. 49949=4.6985 , log 35498 = 4.5502 , Antilog 0.0212=1.0500)

EET

(@) wys sn o il Ml omgll s B, Al AsgS cuwell 62 32l §37

(log 2= 0.3010 , Antilog 0:0502= 1,123 )

(b) W& 5Uoll 1-1-2010 «il 2Ao¥ 2. 6,00,000 Hi s 22 WL B.2ole] Vel
it 8 oy of B, waAR o 2 wileclo] 4 U sletoll A ofl (BUd 5Rcll
50% af (BHcl Ygaell us. atg 2l wilecuotl &qell €2 a 31 SIAR oll
Ay Fecll 251 16% 2l 8 ol 1@ ysll HSA 7

Que.4

(a) viddast uR ot Aed 9?7 Aelt Hual GudN waudl.

(b) ol Aol @Al WRell x=17 HR sgjeotoll Actoll GUDL 531 y of Wajillat 5.

X 10 |20 30 40
Y 13 37 74 100
el

(a) Bugl RQrciell Slctoll Heesll 1950 oit ] 1@ (Aol 1Bl uel
GellEate] vlojHiot 2

o]

1835

1940

1945

1950 | 1955

1960

GeulEet 2ol Hi 20

29

37

? 57

68

(b) dlle ol fctall Guallol 53l 35 M2 (BHcle] VajHlet 83 ,

X 20 30 40 | 50
Y 572 439 346 243

&
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